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1. mﬁﬁq%aﬁmﬁmmmﬁ%maﬂmmﬁ al 3HE
fore 3y smyEei @ SN Yeafuas (M) @ =mEn ? 1

Suppose your parents want to purchase Gold jewellery along with you;
then which logo will you look for on the jewellery ?

2. ‘ot fafmio sferegut afteg’ & oo =i R 2 1
Why has the ‘National Manufacturing Competitiveness Council’ been
set up ?

3. ﬂmmmﬁwg@mmmév 1

What is the. guiding philossphy of Bharativa Janata Party ?

4. fafrrg < sfen & g s e aem s FR R 8 0 1

How does money act as a medium of exchange ?

5. mvm%&mmi%@mﬁm sqawﬁ A :' A W IyiiE

R E 2 1
How can you say that democracies are based on political equality ?
6. AN JEUYS A F AMTI R ? 1

What is meant by trade barrier ?

7.  UHifoe g@l ® vaara w4 fefEa g @ 2 1
Why do political parties involve partisanship 7

8. WS sIfeRIiEl 1 YT 3T F91 41 ?
3t

I Tt = /o B 2 1

What was the main aim of the French revolutionaries ?

OR
What is the meaning of concentration camps ?
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9. mmmm%aﬁ@m%mwmmmm

F GHa 8 | | :
Explain with an example how you can use the right to seek redressal.
10. 2F@ # A AEIeH % Beid H1 quia HfT | :

Describe the spread of Non-Cooperation Movement in the countryside.

11. ‘%&aﬁmﬁﬁaé&ﬁ%maﬁmﬁm%u”ﬁm%wﬁﬁ
AT FQ . | = :

“Forelgn trade mtegrates the markets in dlfferent countnes Support the
statement with arguraerts.

12. mﬁmﬁaﬁtﬁﬁifaﬁwﬁﬁwﬁmwml : !

Describe any three features of waterways in India.
13. 3yl gg1 Y, S o 8 3w @ 2, fafma = srem =i wfien
fran wimar 2 2 ®R0 @ i | .'

Why is modern currency accepted as a medium of exchange without any
use of its own ? Find out the reason.

14, St wfa % fore v garast R 17 39 S99 % 9§ 3194 @@ G | :

“A challenge is an opportunity for progress.” Support the statement with
your arguments.

15. U4 99 3R 918 7@ fF8 yer gE § ggay qiue fvd € 2eE difsw

How do money and muscle power play an important role in elections ?
Explain.

16. U H el & weaw ¥ ugars fFE R fasfaa gan 2 vae il |
e

gfed "4t 3 foaam & s faem & e # form yor & o w&ga fu 2
e FHifsm |

How did nationalism develop through culture in Europe ? Explain.

OR

How did Paul Bernard argue in favour of economic development of
Vietnam ? Explain.
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17.

18.

19.

20.

21.

22.

32/2

e geren TR

JufHarraTg % fowg THe AEn fhw woR wH wrel B s 2 e Hifv | 3

How did ‘Salt March’ become an effective tool of resistance against
colonialism ? Explain.

mmm’ﬁmmm%mmmmg?m
wfowwo fifte, . 3x1=3

Why has the ‘Chhotanagpur Plateau Reglon the maximum concentratxon
of iron and steel industries ? A_nalyw fhe reasons.

mﬁmﬁﬁmﬁxﬁzmﬁ%ﬁwwwzawm%?aﬁw
foflae | | 3

How can solar energy solve the energy problem to some extent in India ?
Give your opinion.

Arhari=rh Haedl 6y yHR A 1 avEsae i smensi ¥ ufy
el 3R fam 2 2 faveiso Fifso | 3

How is democracy accountable and responsive to the needs and
expectations of the citizens ? Analyse.

“Uediehtn 3R IeeH F T gE wfteaul @ sudieeT # o gen 2 17
SerEwl wigd 58 oA 1 gfe Fifvw | 5x1=5

“Globalisation and greater competition among producers has been
advantageous to consumers.” Support the statement with examples.

wid | 9o fava gg g ot 1 Rl wie we gnensd @ wE ifw | sxi=5
Explain any five major problems posed by the First World War in India.

Rl aul § goft awr IUI FUE Ieured A1 a% & F gHted o1 2 W
i | 5

Why was the cotton textile industry concentrated in the cotton growing
belt in the early years ? Explain. :
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25'

27.

3212

e

mﬁmﬁﬁmmw&@wﬁwﬁﬁvmml 5

How do banks play an important role in the economy of India ? Explain.

WA # HaE T AT 9 S At Siare $u9 s 2 2 3o fafim w6
% HET™ h1 HATheld HITIT | 1+4=5

Which is the most abundantly available fossil fuel in India ? Assess the
importance of its different forms.

“gﬁumﬁt«hmamﬁammwﬁaﬁta@wﬁﬁgmﬁl 3 FA A

Serewel wfea gfE HfFw 0 N1 T ORIAL 5

“The democracy has been evolved through struggles and movements all
over the world.” bupport the statement with examples.

Uit ga &1 F1 A R 2 usHifos za & @9 staEal %1 9 it |
2+3=5

What is meant by a political party ? Describe the three components of a
political party. :

HEH il grr 33w U feed o9fe wedl @1 avly Fifte, fed
BT ATl | U wfEes vgee it wraE 9e7 & gl |

HAGAT

Tt Sear &7 & fawwm F fog widifEEl g ser o R uie wedi W
Ui I | 5

Describe any five steps taken by the French Revolutionaries to create a
sense of collective identity among the French people.

OR

Describe any five steps taken by the French for the development of the
‘Mekong Delta Region’.
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29.

7 @Em A, B 3t C, Wi % feu M uorifas Taraetes (98 9 W), H
sifra fpu o # | T @ # frfafea Sl 6 wEEa @ ggEig 3
3% gE T, gt |/ @i 78 e w o 3x1=3
A. 9% TW 9& wrdiE afa S w5 safEye gan °n |

B. o wF JLfeEH ¥ gemE & 31 A |

C. 9% WA S @Al ACIeH & aE o 8 31 91 |

Three features A, B and C are marked on the given political outline map of
India (on page 9). Identify these features with the help of the following
information and write their correct names on the lines marked in the map :
A. ( 'The place where the Indian Nztional Congress Session was held. —~~eoe
B. .The place associaﬁted‘ with the Peasant’s Satyagraha. <" WP ey,
C.  The place related to céllin'g off the NOn-COc;per.éticn Movement. ‘Cf~cs

8 e R

ﬁn@ﬁmmmmmﬁﬁ%ﬁqmmw F T W
g

Note: The following questions are for the Visually Impaired Candidates

32/2

only, in lieu of Q. No. 29 :

(29.1) 3@ TF 1 T fafgn, w@ widE wfE wEw w1 At fae
1920 H 337 o1 |

(29.2) 39 TIF %1 9m fafEge, St Fia N G FA T FEE F e |
31 1 |
(29.3) 3§ T H TW fafae, it TowE # R F TR A A9 A1 | 3x1=3

(29.1) Name the place where the Indian National Congress Session was
held in December 1920.

(29.2) Name the place associated with the movement of Indigo Planters.
(29.3) Name the place related to the Satyagraha of peasants in Gujarat.
7 P.T.O.
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30. (30.1) @ @& A 3R B, wRa % fu v ueHifos wEamteE (98 11 ),
A 3ifrg fpu o € | A @l w Fefifed sl i wEEa 8
mﬁqaﬂtmaﬁmmﬁaméfﬁﬂﬁ@@mm 2x1=2

A (igoEes '
B. qd-afeem miemR 1 fa ém

(30.2) ﬁm%ﬁaaa%m%saﬁmﬁm%@mﬁammaﬂxm
am fefan e - . 1
fersmraMem — mmm&

(30.1) Two features A and B are marked on the given political outline
map of India (on page 11). Identify these features with the help
of the following information and write their correct names on
the lines marked in the map :

A. Iron-ore mines
B. Terminal Station of East-West Corridor

(30.2) On the same political outline map of India, locate and label the
following :

Vishakhapatnam — Software Technology Park

Fiz: RElkifed 397 Fac giEaraa qhenfEr & g 57 @91 30 % ©H W
g:

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 30 :

(30.1) Sefsen dig-oeh @H e T A femd 2

(302) -ufem TR ¥ v fR % S w1 A ffa |

(30.3) weiless Tea 1 fom wftng wiveder drenfieh urdh 1 9w foflge | 3x1=3
(30.1) In which state are Bailadila Iron-ore mines located ?

(30.2) Name the Western Terminal Station of East-West Corridor.

(30.3) Name the well-known Software Technology Park located in
Karnataka State.
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